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C(t) = Ac-cos(we-t+ ¢c) (4.1)
M(t) = Am-cos(wy-t) (4.2)
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Sant) = [1+ Kan- M(0)] - C(t) (4.3)
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Sen(t) = Ag-cos(wo - t+ do + Ken - / M(t)dt) (47)
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0000000000000000
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t) = —= 4.1
oty = M (4.10)
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t
0(t) = a@-t+¢@—%K%M-/QNHﬂdﬂ (4.11)
0
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= wc-t+o¢c+ Kpm - / A cos(wyy - t)dt) (4.12)
0
w(t) = we-+KrmAwm cos(wy - t) (4.13)
= wc - +KppmAnm cos(wy - t) (4.14)
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http://www.circuitdesign. jp/jp/technical/modulation/modulation_main.asp
http://www.circuitdesign. jp/jp/technical/modulation/modulation_AM.asp
http://www.circuitdesign. jp/jp/technical/modulation/modulation_FM.asp
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.model 1N60 D(IS=604n N=1.224 Ikf=0 Rs=70 BV=30 IBV=50u Cjo=1p Vj=1 M=0.3 TT=10n Eg=0.67 lave=50m Vpk=30 mfg=NEC type=germa)
.model TN60 D(IS=.1n N=1.5)
.ac dec 100 100 100k

.ac dec 100 0.1 100Meg

.tran O 10msec Omsec 0.lusec

Test_Output

Al

0Q0kHz space=1  Dipole Ant f=7MHz (2mm phi, 20m)
R6

'
H 38.3uH ! Crystal Radio
$INE(0 1000V 0.5kHz) ' o !
' H C1 '
| 13.5pF—.|._ '\ J___ resonance '
H T 1 '
: " 300p D1 '
" RS " ~N i
e " R1 1 H
1 N 1N60 l '
' o c2 c4 1
i 'l 5.6Meg L L R3 '
E E E 33.8pF 750uH 2Meg 33pF Seramics_Earphone '
Lmmmmm e e e = N '
L o o o e o e e e e e e e e e e e e e e e e e e e m e m e mm e
Spice Model of IN60 was obtained at http://www.ht.sfc.keio.ac.jp/~kaz/mori_adc_2014_report/adc_14_3e.pdf :
Eqivalent Circuit of Earphone obtained at http://crystal-set.com/report/s100.htm #?Tzﬁﬁy?%{{g%gzn

Egivalent Circuit of Ant obtained at http://sdr-de-bcl.blog.so-net.ne.jp/2014-04-16
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£9.2 RHi[fhr — 7L (JISHIRS)
A A I e
W 00) (10MHz) Ej‘?{,‘h”f) {mm) 3_‘|3_ - ?__‘]’_
1.5D-2V 50+ 2 85 2.9 T SRIRINTE (mm)
2.5D-2V 50+ 2 45 4.3 P4 s E— 7 2
3D-2V 50+ 2 47 5.3 C 1759
5D-2V 50+ 2 27 7.3 D500
5D-2W 50+ 2 27 8.0 TN
8D-2V 50+ 2 20 11.1 2Ry =T A
10D-2V 50+ 2 14 13.1 L il 5 & USvh i B2 K
20D-2V 50+ 2 6.6 26.1 N o — o RS AR L
1.5C-2V 75+ 3 96 9 P A m il
> 502V — =2 r Vi R AL
3C-2V 75+ 3 42 5.4 . ) l;‘;‘;‘f: f’:%ﬂml
. L) b4 2
5C-2V 75+ 3 27 7.4 v
7C-2V 75+ 3 22 10.4
10C-2V 75+ 3 18 13.0
20C-2V 75+ 3 7.4 2.1
JIS C3501% ")
@ Rc -0D0/ U
: i SYSREH
(&
MILAE B (0 )
2% NENE B | ARBE | ¢ hoE | BEEE | BHEAVE-SVR | g
HE | #ma/mm) | HE | HE (mm) | (kg/km) )
RG-8/U C 7/0.724 PE C 10.3 168 52+2
RG-8A/U C 7/0.724 PE C 10.3 168 52+2
RG-11/U T 7/0.404 PE C 10.3 145 75+3
RG-11A/U T 7/0.404 PE C 10.3 145 75+3
RG-58/U C 1/0.813 PE T 5.0 40 53.5+2.5
RG-58A/U | T | 19/0.180 PE T 5.0 40 50:2 O
RG-58C/U | T | 19/0.180 PE T 5.0 40 502
RG-59/U | CS | 1/0.643 PE C 6.2 60 733
RG-59A/U CS 1/0.584 PE C 6.2 60 75+3
RG-59B/U | CS | 1/0.584 PE c 6.2 60 7523
RG-62A/U | CS | 1/0.643 PEC c 6.2 55 93.5:5 O

U s52. 0000000000
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000000 Az000000000
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—AV = ZpAz-I=(Rp+iwl)Az-I (5.23)

gooOoOoOoOo0O0O0O0ODOOODODOOOOOOOOOO0O0OO0O0 ZoOOOO AzOOOOOOOODODOO

1 1 1 Ze

_ 1 _Zc 5.24

ﬁ—z—i—iwC'Az %C+iwCAz Az ( )
1

Z = —-— 5.25

¢ T EtwcC (5.25)

000000000000 000000000000 A200000000000000000000000000O0
0000000 Y.000000000000000000000000000000000000000000000
0000000000000000000000000000000 (000 ZeA2z00000Y:A200000)00
00 Re0D0O000000D0O000 GeODOOO (Ge =1/Re)0

1 1
Yo = —=—+iwC=G¢c+iwC 5.26
© Zc  Ro ¢ (5.26)
— iwC (for Rc — o) (5.27)

ooooooOoOoOoOOOOODOOOO AIDO
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Al = — = YoAz- 2
ZoThn Az V (5.28)
00000000000000000
av
o = ~Zu1=—(Ry+iwL)] (5.29)
dI ,
o = Yo V=—(CGctiwO)V (5.30)

obooobOoobooobooboboooboobooooobooooboboobooonoag

|IRr] < |iwL] (5.31)
|Rc] > |1/iwC| — |Gel| < |iwC| (5.32)
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000000000 R, =00Ge=000000 Ye=iwCOZ, =iwl00000

d?I 9
2V
Tz = YoZp V= —wWLCV (5.34)

ubooboooogn

I(t,z) = Iyexpliw(t T VLC2)] (5.35)
V(t,z) = Voexpliw(t T VLCz)] (5.36)

o000 —-00 420000400 —z00000000O0O0O0O0O0O00 v0O
- (5.37)
VLC '
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000000000 |Ry| < |iwL|000 |Ge| < |iwC| 0000000000000

I(t,z) = Texp (iwt) = Iyexp (iwt Fvz) (5.38)
= Tyexp (iwt F (if + a)2) = Ipexp (i(wt F B2) F az) = [yexp (iw(t F VLCz) F az) (5.39)

— Ipexp (iw(t T VLC2)) (for a — 0) (5.40)

V(t,z) = Vexp(iwt) = Vyexp (iwt Fyz) (5.41)
= Vpexp (iwt F (if 4 a)z) = Voexp (i(wt F Bz) T az) = Voexp (iw(t T VLCz) T az) (5.42)

— Voexp (iw(t FVLCz)) (for o — 0) (5.43)

v o= a+ iﬁ =Yo7, (5.44)

5 - (5.45)

a = \F GC\[ (5.46)
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7 T v 0 (5.48)
Zr
VI -~ A4
0 Yo (5.49)
0J0doDooo0OoO00ooopoooDn 2 =wllYe=iwCOOOO
L
70— L |E 5.50
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0000000O0o000o0o0o00 4+20-200000 20000000000000+2000000 (0CO0)OOO
V,0,0-000000 (00)000V_.ODI_00000

I(z)e™t = (I+e_(iﬁ+°‘)z + I_e(iﬁ+a)z) et — (Ipe P2 + I_e"#) et (for a — 0) (5.51)
V(z)e™t = <V+e_(i'8+a)z + V,e(wﬂ“)z) et — (Vie "7 + V_e'?) et (for a — 0) (5.52)
oo00ooDbOo 54800
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oooooobzZ,0oboboboooobooooobob0oooooooboooboobooDOoDbo

_— (5.53)

0000 «00000 pO0O00 (Advanced)

Yo = Geo+iwC (5.54)
7L Ry +iwl (5.55)
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ubogbadgby0od

v = YoZr, =+/GeRr +iw(GeL + R.C) —w2LC = a +if (5.56)
gooooooo

z+iy = /2 +y2exp(i-atan(y/z)) (5.57)
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|Rr| < [|iwL] (5.58)
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@ = VTt 2 Ve (5.64)
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27e
¢ = In (b/a) (569)
- M
L = 271_ln(b/a) (5.66)
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_JL_ 1 fp b
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L = (Vo —Vou)/Ra (7.3)
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7.4.1 NJM5534DU00OUO0OOO
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oENEEIREL +3~122V
o1 EEEAL
oA Tty MR FAT
o ANMEEE 3.3nVAHz typ.@1kHz
o E /AT 200kHz typ.
o X)L—L— 13V/us typ.
o/ R—SHEiE
LYa8i DIP8,DMP8
m UEFECH
(Top view)
o v aE
II EI 1 .V|o Trim
2.-ANPUT
E Zl 3.4INPUT
Bl av
[3] 6] 5. COMPENSATION
6.0UTPUT
[4] 5] A%
8.Vio Tim/COMPENSATION
DIP8, DMP8 Package
n Z{HERER Vio Trim Vio Trim/COMPENSATION COMPENSATION
o

I T
+INPUT [ ,_K j_J

—INPUT 1t
#
[ —o OUTPUT
|

MEMER

Ver.2011-02-22 -
0O 7.11: NJM5534 (pagel)

FAN




O70 0OO0OO0OOOOO (250)

NJM5534
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NJM5534
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ooooboboooboobooooboooobooboooooboooooboooooooboooooboOoboooonoo
0000000000000000000000000000000ORMS(le) 000000000 0UDODOOOO

AVin(f)nV/VHz] (7.20)

Oooo0oOr 80000000 O0OOOO0DOOO ADTODOOOO0OOOOOOOOOOOOD
O00000ooooo0o0ooopoooo000ooooO0Oo00ooDOOoO0O0OdADT970 30kHz ~ 100kHZzO OO
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f1

AVvo2ut = A X A‘/fl(f)df (721)
fo
100[kHz]
= 10x / (0.9[nV/vVHz))%df (7.22)
30[kHz]
= 10 x (100 — 30)[kHz] x 0.81[nV?/Hz] = 5.67 x 10°nV?] (7.23)
AV, = 750[nV] (7.24)
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AD797 Input Voltage Noise Spectral Density
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0 7.18: Ultralow Noise, Ultralow Distortion OpAmp AD797 0 0000000000 DOOOO0ODOOO
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7.5.1 O00O0OO0OO/0000

Vo = V.=V,
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7.5.2 0000

O723000000000000000000O0
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I = u_ Vm (7.33)
1

Vouw = V_— —/Idt /ﬁdt (7.34)
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